ft?
ist in Nagi istrict: 7
Which lake does not exist in Nagaur dis |

cuchams B) Raiwasa [
(A) Kuchaman ( i
(C) Didwana (D) Degan; ‘
(A) A (B) @ |
(C) Zrear (D) T

|
Freftfan i & fos a4 sl o o et | 8
T &7
(A) Tl A1eH 3@ @ E
(B) 98 WY &l |
(C) &fte & @rar &1
(D) da+ g df @1 # |

The name of artisan associated with blue pottery

- Jaipur is : ‘
(A) Narottam Jangid (B) Abrar Ahmed

(C) Rajesh Godha (D) Anuradha Jangid 9
&g el - Ty § gty Rees & A §
(A) TTem s (B) &=t Ewe

(C) Trstgr wmen (D) srguen @infte

When the liquid is spun rapidly, the denser particles
remain to the bottom and the lighter particles stay |
at the top. This principle is used in -

(A) Evaporation (B) Filtration

(C) Centrifugation (D) Fractional distillation
w9 el 7@ B Ao & g s #, al wE For A |
T & F T Ted ¥ | 3@ foia @ swEn fear
R -

(A) airmor §
(C) aradzor ¥

(B) feigs &
(D) &ifsrer st &

Presently, the number of Municipal Corporation
in Rajasthan are :

aﬂqﬁﬁmﬁﬁwﬁiﬁfﬁﬁm%; 11

(A) 9
€) 6

(B) 10
(D) 7

What is the famous “Baadla” of Jodhpur?
(A) Zari Saree :

(B) Pomcha
(C) Wood Temple
(D) Water container made of zine

Wﬁrwﬁv@"m"ﬁqﬁgw%?

(A) =rtr ar
(B) dmey
(©) @t a7 ufey

vvep (&
;

p—

12

¢ Eastern Ghat is
(B) Gurushikhar
(D) Dodabeta

[he highest peak in th
(A) Mahendragiri

(C) Anamudi N

ydl @z § gateg for@t & -

(A) mefife (B) TelETEt
(C) sy (D) AT

The similarity between Li and Mg 1s ‘due =
(A) Similarity in the charge of }helf 1ons

(B) Insolubility of their hydroxides

(C) Similar ionic potential

(D) High electropositive nature

Li oft Mg % dra qural @ 9o & —

(A) % amae & ey § @aEdl -

(B) 7% wiggrawmst & srge=siiaar

(C) M st fava

(D) = fqga avres wafd

The slope of the line joining 4 (3, 7) and B (-2, 1)
is -

g 4(3,7) aur B(-2,1) @ fae ot Y@ @0
T ¥ -

(A) (B)

| oo |—
wlon <o

(©) (D)

Which one of the following types of medicine are
used for treating indigestion?

(A) Antacid (B) Antiseptic ~

(C) Antibiotic (D) Analgesic

%ﬁ%%mﬁm‘m%ﬁmﬁﬁm
£ 7

(A) JH (B) ey

(C) wierarely (D) drsterh

Rinku sells a table of costing price T 840 to Sonu
and earns a profit of 10% and Sony sells it to
Rockey at loss of 5%, then what would be the
final selling price of the table?

fig T 840 %3 477 aelt 2aw @y 10% & @my & @
@m%mﬁisﬂﬂaﬁaﬁS%a&sﬁwm
&1 2aw & o fasm gy w o

(A) ¥ 837.80 (B) T 924

(C) T 877.80 (D) ¥ 798

The next term of the given series is -
& T i HT SPIET uE ® —
CEHLQ?
(A) W

(C) U

(B) X
(D) V

[ Contd...
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16
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On 30" October. 2022
_hrulgc co_llups-.cd in the city of Morbi in Gujarat
it was built on which river? .
(A) Sabarmati (B) Khari

(;((,‘}- Vl(npcn (D) Machchhu
A, 2022 WP % Hdt g § w e

{-@;mrﬁﬁw-m%ﬂ?ﬁwwwm?
(ﬂf) HIETHdY (B) @rf '
(C) =uq (D) weg

The high grade coal is - '
(A) Lignite (B) Peat |
(C) Anthracile (D) Bituminous (
ST AT BT prgen T |
(A) ferze

(B) =
(C) teneEe

(D) faefrm

If ‘CLOCK’ is coded as 34235 and ‘TIME’ as |
‘8679, then what will be the code for ‘MOLEK’? '
afg ‘CLOCK® &Y 34235 3T “TIME’ &t *8679° 4 |
$fed b 9, & “MOLEK’ % fu e @ a7 |
(A) 62945 (B) 62495 '
(C) 72945 (D) 72495

|

|

|

An eye defect ‘Astigmatism’ occurs when : !

(A) the eye lens becomes cloudy.

(B) the cornea is not spherical in shape.

(C) the image of an object is focussed at a point |

behind retina.

the image of an object is focussed at a point

before retina.

gftedy ' d9 SE B ® 4

(A) = WG U & A 2

(B) wiftar @1 angfa Mo T e

(C) ﬁﬁma@muﬁﬁﬁméi%%ﬁﬁ“
Frepftd Ear ¥

(D) fedt a@ @1 wfie gzged % s fad fag
7 wrstEd e gl

current chairperson of the National
2 (As on 18 December

(D)

Who is the
Commission for Women
2022) _

(A) Dr. Girija Vyas
(B) Mrs. Rekha Sharma

(C) Mamta Sharma

(D) Lalitha Kumaramangalam

e e e B A o A € 7 (18 fE
2022 & AT

(A) =i, firfeen 2@

(B) Hrwdh T g

(C) wwar smi

(D) e GHTCTe

1VVP | O

a pedestrian suspension | 18

19

20

21

22

23

which on¢ of the following agency undertook the

excavation work of Kalibangan?

(A) Deccan College, Punc _

(B) Melbourne University of Australia

(C) The Rajasthan Department of Archaeology
and Museums, Jaipur

(D)

The Archaeological Survey of India, New
lhi

ﬁ'ﬂﬁi]%;ﬂ § 9 fre U STHTOT  FIAET & oG

P &1 TAEIad HTe 7

(A) @@ ®iad, gol ‘

(B) e favafeere, siteiwdn

(C) T qATded U e fawm, SEge

(D) g garde e, a5 fae

Volodymyr Zelenskyy is President of -

(A) Spain (B) Ukraine
(C) Russia (D) Portugal
(A) &7 % . (B) b %
(C) &\ % (D) g %

Punett square is used in the study of :
(A)- Photosynthesis  (B) Genetics

(C) Cell Biology (D) Bio-Evolution
T 9 § B9 fpEer g wid £ 7

(A) WeHIT-Haruoy (B) sr=afsra

(C) wifstnr Safasm= (D) w9 fa@wm

Kwashiorkor is usually observed among children
in the age range of -

(A) 4—6 years (B) 6-10 vyears

(C) <]éyear (D) 1—4 years
wﬂ;ﬁwrmmﬁ‘twaaﬁﬁsﬂan‘gmﬂfé@
RIE2 1

(A) 4—6 a9 (B) 610 g%

(C) <1 ad (D) 1-4=d

Fill in the blank with one of the correct options
from the options given below.

It's time they working on the project.
(A) will (B) would start

(C) started (D) start

Which_one of the following times is the season of
retreating monsoon?

(A) Mid June to September

(B) February to mid June

(C) October to mid December

(D) December to February ;

Fretifepa & & ST G WG Gt BT %G H 8
(A) we o7 & et

B e

(C) sty W

(D) frgmt ¥ !

I [ Contd...




nerﬁl 8]
escdrch

irector

irs yman Dire ;
/ is the first \_u e Bconofl
24 \J“,:Ir'(ln":l Council of Applie
Natrolid

[ India? o
(U\) Shyamala (:opu?ath
(B) Shobhana Bhartia
(C) Poonam Gupta ]
sud Karna ) L

(D) Renu Su ! | "
w%#sﬁﬁmﬁﬁmqmgmm’rﬁﬁﬁ? |

aeelt afeen Ao @ €7 |

(A) sgrear AT ‘
(B) sitvrr wferdr |
(C) T T '
(D) Y7 §E FE ‘
25 In which year Desert Development Program was
launched? :
wore fawm Fwn fhe ad ¥ are fear mar ar e
(A) 2001-02 (B) 1984-85
(C) 1977-78 (D) 1980-81
26 Which of following districts of Rajasthan is not

(A) Alwar (B) Bikaner
(C) Kota (D) Udaipur
TR % B ¥ § few R = o g
m T ofevern % wom oo whafig 2
(A) srwEy (B) dm@rt
(C) =l (D) wzagy
27 l\é\;f:;c:::ar}?guage (dialect) is spoken in Bundi g,
(A) Hadauti (B) Brij |
(_C) Bagri (D) Mewati
I v B Ay BITET T arely S &7
(A) e (B) T '
(C) am (D) Hardh
28 Ina pon.d €COo system, fi i
((é) Aquatic insecfsm’ ((I;())d ;:12;: fs',shesw!ﬂl -
EI1ITszhytcplaml.mc;‘r;l (D) Z?oplankton.‘ :' i
A) W drey i
(©) TR F
29 Choose th
Sl beloe correct Hingj translatio, of
€gistration
(A) wfemy P
(C) dfsyap ®

included in the first phase of Rajasthan Urban
Infrastructure Development Project?

IVVP | O

30

31

32

33

When an error of 1% i made in the leng
square, then approximate percentage error iy
area of that square will be -

T T B T 1% g e 2, 4 oy
H A B T afgsiar @@ g
(A) 2% (B) 4%

T F s

(C) =% 19

(D)

b | —

Go through the following poem and answer the
Question given below -

O Rose thou art sick,

The invisible worm, ¥

That flies in the night d

in the howling storm - 21

Has found out thy bed

Of crimson joy:

And his dark secret love

Does thy life destroy.
According to the poet. the main idea of the poem
is :
(A) Innocent are helpless, they suffer and give up

_ their life.

(B) The beauty of the Rose is immertal.
(C) The poet praises the secret lovesnf the worm.
(D) Wicked people win the battle.

A-wire is in the form of a circle of radius 98 cm.
A-square is formed out of the wire. What is the
approximate length of a side of the Js‘q‘uare‘?‘

(A); 154 cm (B) 156 cm"

(€), 148 cm (D) 152 ¢cm .

U1 98 A Bt & g9 & ER B i@ AN @
A A T ¥ | e g @)
R

(A), 154 &t
(C), 148 &t

(B) 156 &9r
(D) 152 &+

Virtilal and enlarged image of an object can be
abtained by :
(A), Plane mirror
Concave lens
Eg)bl Convex 'mirror
{bj‘ Concave mirror :
ﬁgﬁ & v 9 fyaffa wfafie gra fear @
et ¥
(A) 5aw zdor &
(B) ¥Eq@ wa @ra
(C) =@ =qu &1
(D) @@aer zdor a0

[ Contd...
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34
comparison to RBC in blood is
(A) less
(B) changes now and then
(C) equal
(D) more

In normal conditions the number of WBC in | 4¢

mqma:mﬁ&éﬁﬁfmmwﬁﬂﬁﬁ@l,mﬁfm\

(A) =9 B )

(B) We-g9 s=a@d1 w@ar By
(C) ammET 2 )

(D) =amr =i d

35 Which of the followin
industry?
(A) Mushroom (B) Morels
(C) Black mold (D) Yeast

ﬁu?ﬁfmﬁaﬁﬁmaﬂﬁwﬁmm%?

41

g fungus is used in bakine |

(A) Hsrem (B) = |42
(C) =% dies (D) dre
36 The sum of first 50 natural numbers is —
WOH S50 Wighd HEsh & am ¥
(A) 1275 (B) 1525
(C) 1"000 (D) 1200 43

37  When the post of Loka

Rajasthan?

© TS K WEgE & 9E % ghed gen ar?
(A) 1982 (B) 1973
(C) 1992 (D) 1977

38 Find the odd one out :
(A) MS ACCESS
(B) C++
(C) ORACLE
(D) MYSQL
fawm g -
(A) wH g uag (MS ACCESS)
(B) &+ (C++)
(C) @rtsw (ORACLE)
(D) uw & va | W (MYSQL)

39  Objective of ‘Mukhyamantri Lagh

Protsahan Yojana’ is :

(A) Both Establishment of enterprises and
Providing new employment opportunities

(B) Reducing economic inequalities
(C) Establishment of enterprises

(D) Providing new employment opportunities
W %
(A) ITHH ) WA HON UE T DAL

IYFS HIEET g1
(B) onfifes srewmaaneli &1 &9 &
(C) Tusmei &7 e &
(D) A UM SERT IYAE B

e O

LO)

L)
e

N
.

-

0 Udhyog

yukta was established in |

| 44

45

HIqT

. site 1n
s nearly oppos!

' ds which are .
Choose the wor

i ined words :
meaning to the underlined

(C?A)a lgfurred (B) Transparent
(C) Cloudy (D) Hazy

Which of the following is a non-impact printer?
(A) Drum (B) Laser -

(C) Daisy wheel (D) Dgt mafr[.\

T ¥ a3 | U A3 ﬁrar t?

(A) ¥ (B) @\

(C) &= 4 (D) =iz afeam

What is the smallest and largest font size available
in font size toolbar on formatting toolbar?

(A) 6 and 72 (B) 8 and 72

(C) 6 and 68 (D) 8 and 68

W A A SO i e gwEn ¥ gyeer
T 3 sty g ST Fqr &7

(A) 6 3t 72

[ Conyg,
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» 2022
rde€ =7 ==) 1s | 49

an Awa
ma \'mhmh.m A

e (Pad
46 Prabha Atre T field?

related 10 W hich

(A) Social Work

‘lassical Music

(B) Indian (
(C) Sports —
- e Tec MO N PR

D i 'fj_:i‘r;f,; g s 2022) B & 5
qHT 3> o

gatad 7 )

(A) ga1 &

(B) wredta s @A

(C) @d

(D) siafte genfial

47 Which of the following statements is not true
regarding Rajasthan State Human Rights |
Commission?

(A) Other members of State Human R.ighr\'
Commission can be a serving or retired judge
or magistrate of High Court or District Court. |

(B) The chairperson and other members are
appointed by Governor.

(C) It is a multi member body consisting of a
chairperson and two other members. 1

(D) The chairperson should be a retired justice of [
Supreme Court.

frmisiad o @ &9 1 FoF T oy T

(A) o1 WedE 3= e Sgdn e <y &
A s AR B siwar @ A

(®) st = s el P e 2 o
W ¥

e “Waﬁﬂ?@?ﬁmﬁm&maﬂm‘l

N

W B

(D) seas seaem = a1 defrge ey
BT E

52

48 A member of the State Public Servi
ublic Service issi
may be removed by the : ' Fommission

(A) Governor on the basjs of :
i asis of impeach ’ }
Legislative Assembly. P ment in the
(B) President on the

basj i .
Parliament, is of impeachment in

Which of the following blo
“Universal Donor™?

Frefafaa & @ @ar @ gge v gdes
(A) AB (B) O

(C) A (D) B

During whose reign did the Kishangar|
recerve an independent form?

(A) Raja Roop Singh

(B) Raja Samant Singh

(C) Raja Kishan Singh

(D) Raja Jagmal

REE IRl E R T T B, R ——
I

(A) 7 =ufte

(B) v amafse

(C) T fpsrfae

(D) = ST

Which fort is situated on the confluence of
Gambhiri and Berach rivers?

(A) Chittorgarh Fort

(B) Ranthambhore Fort

(C) Kumbhalgarh Fort

(D) Tadgarh Fort

T q Iz ARG & §T 9T e e feg 3 7
(A) fadtgme feem

(B) oty fape

(C) Fweme fae

(D) zreme faan

Three numbers are in the ratio of 2:3:4 and their
average is 39, then the smallest number is -
d deard 2:3:4 & S § ¥ qur I oiEd 39 3,
ar §99 B Hen @ -
(A) 39 (B)
(C) 13 (D)

o n
[ g¥]

=2

What was the growth rate of gross state domestic
product of Rajasthan at constant (2011-12) prices
during 2021-22 as per Economic Review 2021-
227

anfde wfen 2021-22 & srET 2021-22 § T
& RUT (2011-12) Fwat 93 g@a U9 Hlg IAE B

gig. &t g a1 7
(A) 6.04 (B) 11.04
(C) -5.2 (D) 3.2

[ Contd...
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Rajasthan?

( \) Maharawal Chandra Singh

(B) Maharawal Laxman Singh

(C) Maharaja Sawai Man Singh

(D) Maharaja Bhupal Singh

ged TWAAE & e wE fgaa fman e
(A) HeRrad d=fbe

(B) HerTaw @enuige

(C) #HerTen qar qEfge

(D) Herrsn surerfts

In the CD-R type of CD. data can be
(A) Written many times. read once
(B) Only written once

(€) Only read once

(D) Written once. read many times
CD-R 9@t %1 CD w7 221 3t o

(A) To% 0% ar vet, w2 9 ferar o wapar 3
(B) fak us ar foar o g 2

(C) T ub a1 ger o g 3

(D) &2 ar ver, a7 faf v q fermn w g 3

In which one of the following civilizations bricks |
were not used in making houses and colonies?
(A) Pilibanga (B) Ganeshwar

(C) Nuh (D) Kalibangan
Trferfia & & form wvaar & smarg vd aftqar T
q £21 &1 GAM AL wrar a1 ?

(A) didrEm (B) st

(C) 7& (D) refram

In Powerpoint, two kind of sound effect files that
can be added to the presentation are -

(A) .wav and jpg files

(B) .jpg and .gif files

(C) .wav and .mid files

D) .wav and .gif files
Ena)mﬁsza‘rmésmgsﬁmmﬁﬁ%smﬁﬁ
EIE

(A) .wav @ jpg ErEd

(B) jpg @ .gif ®=e

(C) .wav d .mid ®E

(D) .wav @ .gif ®Ed

Pretfifig § & @ s veraga &7

(A) H&ed (B) framg
(C) garae (D) s

ivwe] ) 7

Who was appointed as the Rajpramukh of Greater 59

61

62

P
ommatud as ¢

as N .
st ituent

i
’ e o in the Ccons
who amone
Ivé 0

Stri
Heeralal Shastri
B) Mohanlal Sukhadf
EC) Vijay Singh Pathi

‘ hta
.- i Narayan Mehtd
(D) Jurajﬁ_ 3 1046 &

wﬁmﬁm%gﬁﬁm%w
(B) wieeE garedT
% i

©)
(D) earst A Hedl

Tqm%aﬁa&?

i int?
Which one is not view option 1 PowerPoint:

(A) Slide sorter v.icw

(B) Slide shm_'v view

(C) Outline view

(D) Normal vieww.

T § dE GaaiEe B H
(A) wEe W F

(B) wmEE st &

(C) m3eaEd &

(D) e =

famea wEf 2 7

Trench Commission was formed in the context of
which peasant movement?

(A) Alwar Movement

(B) Bundi Movement

(C) Begu Movement

(D) Bijolia Movement

% o o % wed F ¥ s @1 e faar
T ar?

(A) EET Srare

(B) 4 amziem

(C) 37 ar=re=

(D) fo=iferan am<iery

Choose the correct
following word from t
Domicile certificate
(A) 79 ramd gy qx
(B) ==t wamy 4x

(©) & yum oy

(D) smar wamy oy

Hindi translation of the
he given options -

Someone who walks in s] :
(A) Reiiube > Te

B
(©) Philogynist L Termagant

(D) Somnambulist
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65

66

67

68

69

70

vve) (5

S o ) I » ] l\ iCAle(
C IILLIJI ch i le Ilp
. el

h fort is 18 I\umhh‘lgarh

In whic

B)
Moehrangarh {

o \\"’”.-N'_ () Achalgarh
(C) Amel afterd 27
foreqr odl ol Hf’«“! fed fooet = =

19Tl % TG

(A) HEUATe £ T =t

() AT () 2 R

¢

qE1 St yreE 0 e ¢
(B) Disorder

faamfa’ gre & Teld

(A) Dismiss ; _

(C) Discrepancy (D) Discretion

[he Heading in a letter consists of B
(A) The reference

(13)  The subsceription

(L) Salutation

(1) The writer's address and the date

Complete the sentence by choosing the correct
preposition from the choices given below :
What's the time
(A) on

(C)y m

~your watch?
(B) by
(D) at

Jaundice is a condition in which accumulation U”
in blood. -

_oceurs |

(A) bilirubin (B) albumin !
(C) globulin (D) hemoglobin
qiferar uas od Rafy 3 fed @ d
q9q & A £
(A) faeirsfam
(C) Targfe=

(B) uwgfir
(D) Ereifas

lotal number of Gram Panchayats in Rajasthan i is:
TSI § U YAl @) g g § '
(A) 11283 (B) 13,443

. | i
(C) 10890 (D) 12,560

I'he l’dndmy.ll: Raj system in Raj ‘

inaugurated under which of the
plans?

(A) Third
(C) First

asthan wys
following fiye year

(D) Second

(B) Fourth ‘
UL R

. . urty i (
AV % sieta, By oy 7 T TR e |
) i (B) ugd |
il i (D) feda

71

13

| 74

-.I
h

Air Marshall Shaikh Abdul Hannan was chic
at Graduation Parade of Flight Cadets. He
(A)
(C) Afghanistan (D) Bangladesh
UIY M9 M HKA EAH UGS HEH
T geg ey 419 #

Malaysia (B) lran

(A) waforar | (B) 3= §
(C) IwEmfaeE 9 (D) TRy §

Name the river flowing through Bikaner district

(A) Ghagghar (B) None of the river
(C) Kantli (D) Mantha

AT A & wafed B A 49 @ W @
(A) Tm (B) &iF &1 @

(C) e (D) m=n

yd o fadr afed a1 sfusrd & 99 M0 9 &1 w4

A WM U A WIgF 9 Ad] 2, 38 deEd & -
(A) Fafea (B) #qama
(C) uftgs (D) fasifg

Which activity is not related with the Draught
Prone Areas Programme in Rajasthan?

(A)
(B)

(C) Soil and moisture conservation

Afforestation
Poverty removal

(D) Water resources development
AT | @ 9T 45 BT & g9 g gty
q AE &7
(A) garto
(B) wiE far
) M2 g A9 @ HEY s
(D) S HEEA ®1 fawmE

I'he diameter of a sphere is 0.7 cm. From a water
tank. 3000 spheres completely filled with water is

thrown out. 'he volume of the water thrown out

29
i (\\hcrcn T)
(A) 439 ¢’ (B) 430 cm?
() (D) 530 cm?

U M & @ 0.7 B9 ¥ | ua g @) Fa F 3000
Mot quf &9 & weet qret AT femn e &) & aee

ﬂ"’l

539 ¢m?

ﬁaﬁﬁﬂlﬁqﬁaﬂmtfﬁlﬂ—

(A) 439 g5 Iy (B) 430 99 &4
(C) 539 g9 ady (D) 530 =9 &
[ Contd...
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76 Which of the following converts source program 82
mto object program?
(A) Assembler (B) Anti Virus
(Cy ALU (D) Control Unit
T | B A A W B s W § qawe
(A) sHEEw (B) Ud am 83
(C) ALU

(D) Bt Tre

77 The wood of which tree is used 1o m
bats?
(A) Teak
(C) Acacia

ake cricket
(B) Mango

(DY Willow |
EEELEIEE H1 ST e 1 awen a7 % oo | 84
fopar e 2 7 |

(A) &% (B) 3mq
(C) =g (D) femi
78 Value of V16129 is -
V16129 &1 HH & - 85
(A) 123 (B) 127
() 117 (D) 133
79  Shree Kalraj Mishra is governor of
Rajasthan.
(A) 418t (B) 44th %
(C) 39t (D) 40
A were g, U ® 0 F ueadd ¥
(A) 41 (B) 44
(C) 39 (D) 40

80 Which of the following string instrument is also

known as “Bheri”? . 87
(A) Mashak (B) Pungi
(C) Bankiya (D) Bhungal )
Pretfifiag & § fra g d T of e S E
(A) w9 (B) Tﬁ
(C) wifepar (D) e »
AB_BC _CA_3
" 81 Ifin AABC and ADEF. E=Tr=Tn TS
then their areas are in the ratio -
. AB_BC_€CA_3
A ABC @1 A DEF ¥ df D5 EF FD S
89
@ S A e B
(A) 5:3 (B) 3:5_25
(C) 9:25 (D) 16

e ’

(r+ll:2. then the value of v 15!

[l 10:._11 . .\
C(c4])=2, T x FAAE

e log, (x+1)==

| & (B) 4

:(\)) 0 (D) 2

[ . ) rom th‘«. LlLl!\t,
(" o o

voice to the passive VOICE.

We expect good news.

(A) Good news must be expected.
(B) Good news was expected.

(C) Good news is expected.

(D) Good news should be expected.

H‘.emang Jaiswal of Rajasthan is playcr‘ Q.f__ -
(A) Boxing (B) Weight Lifting

(C) Kabaddi (D) Judo
[oT % BT SraEdr & faendr ¥
(A) FaRarEl (B) #rdrdie

() @l (D) el

[—i‘é;\: many times President Rule was implemented
in Rajasthan?

e # fr A gt e wy fhan ww
(A) 4 (B) 5

(€) 2 (D) 3

Chpose the correct direct speech of the following
sentence from the options given below :
He, ordered them to lock the door.

; He tells them, “Lock the door.™
) He said to them, “Lock the door.™

(C) He said to them, “Please lock the door.™
(’D4 He told. them, “You locked the door.™
o

Which of the following exhibits non-metallic
properties?

Pt & & @ W R o weRia @ 3 2

grey Sn (B) Mo
€y Al (D) Be
O
When was *Tj

~lger Project” started in India?
A) 1 April, 1972 (B) 1 March, 1972

€) 1 March, 1973 (D) | April. 1973

mﬁ'wwﬁﬁm'mma%néeh?

(A) 1 s, 1972 (B) 1 5, 1972

GrYC)5 1 7, 1973 (D) 1 afier, 1973
(f-—goi TG & T8 e @ gww A
@) TP - fm (B) T - Wy

(€) wam - uify (D) 3o - ==

\-._‘
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) :.\*CC‘I Is correct
hich of the following f‘url:wl‘;”;ﬂd A%
90 W hf“ 1 \- ] of cell / 1 Az, H- A: A3 af
) find sun g d Al k

1o & I aﬁ:{m : lﬁﬂﬂﬁé,

fafitd 3.5 o & g @@ &

e g7 @ EQ

‘ : Ad)

= § Al
(A) = sum (:
(B) = sum (Al - Ad)
(C) = sum (Al to Ad)
(D) = sum (Al: A4)

Genes which code for a pair of contrasting trajts
enes

91
are known as -
(A) Genotype (B) Monohybrid
(C) alleles e, generation
fauie el & Ghas A A Bl %
A E
(A) SHI Wy (B) usd d&t
(C) welie (D) F,

92 ‘gTEE 91 ¥ 99N ¥ -
(A) &5 (B) e
(C) wHu™ (D) dgey

93 L+ M means L is the brother of M.

L — M means L is the son of M.

L =M means L is the wife of M.

. x M means L is the father of M,

then which of the fol lowing means R is the mother
of T?

L+M@ &d L, M &1 wi§ &)

L-Mar ad L, M &1 gz %

L=Mar ad L, M &t geit &)

L«M @ & L, M @ firar 3,
H}lﬁf‘?ﬁlﬁaaﬁ;ﬂﬁﬁﬂﬁlﬂé%ﬁi&]:aﬁw%?

(A?) R+A-S$+T (B) B-+A,.1§—T
(©) 5*@*‘%:? (D) R+A+8xT

94 For a light ray travelling from denser g
a

medium, if angle of incidence i
. Ce IS equal oy
angle, then the angle of refract?gn isto. the critical

%mmmmﬁwmm*wm
{é” . (B) 180°
i (D) 45°

Ve (&

Complete the following figure series -

FeffEa spfa e & gof @i

N/

<
=]

(B) @

()

96 In which year Chandrayaan - I was launched b
India?

| Tl § umd F g - | wie a1 7
(A) 2009 (B) 2010
(C) 2007 (D) 2008

97 What is rank of India in 'Climate Change

Performance Index (CCPI) 20232

(A) Slh (B) 9{11

(C) 6th (D) 7th

“Ferarg uftadd westH gasie (CCPI) 2023  wr|
& Yo w E 7

(A) et (B) i

(C) =ar (D) =raEl

If the length of a shadow cast by a pole is /3
times the length of the pole, then the angle of
elevation of the sun is -

g U WY Z ST TS YR B s @y 4y wr

& V3 g A gl W I e -
(A) 60° (B) 90°
(C) 30° (D) 45¢°

98

G oAl AW 9= B T Hifww
(A) srui (B) sideam
(C) sraeam (D) rieam

99

frfofad ® 4 9 faass & o o= afares
s ¥ 7

(A) @SE, WA, ¥4, THEo

(B) T, A, T, &z

(C) agd, w1, 9, Bl

(D) wFardl, gedh, e v, wéra

100

[ Contd...
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101 399 gmeg % HIE =g ey g —y ebrated as “National [ nity Day
-] CILG « g

oy r .,l
AT % 106 Which day 15 €€ ‘
i ; p , “I”:lri\u Fkta Diwas) 11 India”
(A) T <@l dd $ urr 2@y (Rash : & Dotolce (B) gth October
5 % . . A 18 cto _ -
(B) @9 ia s S widy @iy (A_? ]‘5“1 January (D) 4 l)cccjnbu )
(C) =M« e arr s '---I-,@quﬁaﬁ‘mmqm

ey fo 1 WTed |
AT B ‘ .
(A) 31 s @ (B) 8 IR D
el T ©) 15 AT Bl (D) 4 fegmT Hl

(D) arl g5 it 5 @y

102" The median and mean of |5. 17.16, 7,10
16, 19. 12 and 16 are respectively -
13, 17, 16, 2 ) G

b, 7, 10, I_.:. 14, 16, 19, 12 qyr |

At ud wer Hugr: ¥ © 3| 107 Second highest peak of Aravali is —

1A) 15, 14 (B) 15. 16 (A) /\U]l;l|g£.l!'h (B) T:Tm%;alrh
ed by (€) 16, 18 (D) 16, 14 ‘ () (_iu:‘us::;l'[mr ‘ ﬁ(f)lh;t;:'d”
103 Which program helps the user fies oo = (A) HTITTE (B) drarme
web sites on the inllcrncl'? S ey (C) wsfsrat (D) #Tme
(A) Browser program
(B) Search engine 108 If 51 January 2020 was Sunday, then what will be
(C) System program ‘ the day on 24" January 20227
hange (D) Server program (A) Tuesday (B) Wednesday
) HE-ET T Tt & T2 W faiv= wa 2 a4 (C) Sunday (D) Monday
HISH 3@ F WQg oI & 7 afk 5 Fadr 2020 @i AT 91, @ 24 FEadr 2022
(A) ==t v @ B fa= e
¥ g (B) =d dom (A) weErt (B) gear
(C) Tae=m wnme (C) faamr (D) dmEr
(D) =&T W
109 Study the following Pie-chart and answer the
104 Rays moving parallel to the principal axis of a question -
convex l.ens after refraction passes through : Fret o amera w1 srmE &Y P wed @ wv ¥ -
] - (A) Optical centre
& ‘/: (B) Centre of curvature :
gle of (C) Principal focus B
(D) Undeviated R =
[ wErg e e % gAY e arel Rl s d® @ D o
T % vad W ¥, B = Advertisement (Tersma)
(A) Wi &% & A € = Binding (amfem)
(B) @hal &= & D = Printing (xze)
| (C) gea ®&a & E = Royalty (rrawsy)
} (D) B ‘ F = Miscellaneous (Farferer)
: Iti-product SEZ been established (Expenditure chart)
19 k\?;,h;l;tlr(ll(jsi:: ::]OL;labEration with Mahindra Group‘ (@d =)
in Rajasthan? (B) Jaipur H
Jhalawar oW much percer o=
Tah r ((2; i pas (D) Kota i the 0: hind1itn:'?rc IS spent on advertisement
| ot 3 fer 7 3 wed & WA § Fe IR T B e R 9
fon et o 7 - e AT T g
(A) IS (B) ST (A) 2.8 ®) |
11
ntd.- AL O [ Contd...
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yasty Relies of

{ Holy Kap Government o
Jay L'\pmmu - ,mi%,d N
o I1 ]wr:l‘ ‘Huddhn v TRLL: |
ord ' N .a
jndia 0 - 3 s l :
(A) ’\longnha ot iy o
(‘(‘] .'\-!.'ihmii i w
o fpal T Ay |
q antl
) i (B) AT ﬁ
o) v ¥ (D)
() el
{11 In the system of eqllali0115 l
o+ my+m =0 0
Lt myy + 1, =0 ~
| n - i
if f‘_:ﬂl_;t._‘_ then lines represented by
l, m, n, .

-
(B) Intersecting”
(D) Coincident.{ )

equations are —
(A) Perpendicular
(C) Parallel

FHT M O
hx+my+n=0 C\J.
Lx+ +n,=0 2

X+ m,y = :
i PRy —

B L= et 2 e Y

L my  n,

. ap
¢- Te
(A) g (B) sheyd O
(©) wrm (D) gy O
112 r—!
' Ahmedaba;\fa“onElf Games were organised in
(A) 36th B
37th
53 ED)) iy ;
) 9 ® 3
(C) 34% (e}

(Ij) 359 N

113 Ornamentg of

ke ‘Tarkashj* are famous"ut
(A) Barmer
(3(23). gathdwara Eg; gl"l18 titzurgar i
’ % :
((2) LU (%ig?qmg;m ¥ %
)
| Terary (D) ey \O
wWe1 O g
T~
e

which

114 Fjj in the cor |

116

117

118

119

: Fect article.
He is not ‘

(A) a
(C) an

— hunuurahlc man.
(B) no article |
(D) the

blh-e Adaptation Gap Report 2022 is publisheg |

(A) World Economic Forum

(B) BRICS

(C) World Bank

(D) “United Nations Environment Program

T USRI T RGR 2022" %1 wemerE & -

(A) fasg anffe wg

(B) iz

(C) fasg §= oh

(D) e T watwww gl

“Vishwas Swaroopam’ (Statue of B;Iiet) is statue |
of . '
(A) Lord Vishnu
(C) Lord Ram

(B) Lord Shiva
(D) Lord Krishna

Tayamg wegy’ @ yiegmn &1
(A) FTaM foquy (B) e fira
(C) wE=E ™

(D) Har g

The Malpura-Karauli Plain is the part of -
(A) Mahi Basin (B) Banas Basin .
(C) Luni Basin (D) Chambal Basin |
AAYT-HA HEH A § -

(A) wrél afaT &t (B) =@ afaw &

(C) T A& @ (D) =@=a afgw &

Who among the following Foik-Gods;i_s also related
to snakes? _

(A) Mallinathji (B) Gogaji

(C) Ramdevji (D) Pabuji

fFrefefaga § @ @1 dieaar gial § o gwifid 87
(A) WIS (B) irTsit

(C) TrEast (D) e

The .laswént Thada of Jod!lpur was builtby .
(A) Maharaja Ummed angh
(B) Maharaja Jaswant _Smgh Il
C) Maharaja Sardar Smgh
Maharaja Hanuwant Singh

o |
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121 Ebony trees are found in

120 Where s \1.1|1;l|'.l‘L‘.l Shree Umimaid
m Rajasthan »

(A) Jaipw

. (BY Jaisalmer
() Jodhpur

‘ () Paly
HETUSTT 81 amg fiyeyg RAEEEIE IR T Reg ¥ 7
(A) Sage (B) S

(C) sagy (D) g

~ forests.
(A) Conical Evergreen
(B) Mediterranean
(L) Tropical Evergreen
(D) Monsoon Deciduous
g o A ey ¥
(A) THu{l qIEer
(B) ymegarTim
(C) vunsizdda gamer
(D) uturd wegH

122 Which of the following is the first coal based
electricity generating power plant of Rajasthan?
(A) Kalisindh Thermal Power Plant
(B) Suratgarh Thermal Power Plant
(C) Kota Super Thermal Power Plant
(D) Chhabra Thermal Power Plant
et & & @ TeTeT @ geen dvaen srenfa frga
IR AR & 7
(A) Gy qri St g4
(B) TG AW St wH
(C) ®ar g A Tl W
(D) wagr andra el Ha=

123 A bag contains ¥ 5.3 2, and X 1 coins in the ratiu‘
5:6:7. If the total amount is Z 220, then number of
Z 2 coins in the bag is - _
@ﬁﬁS:G:?%Wﬁ?S.?Z@? I.%iiﬁ'ﬂ'eﬁ
T@gqilu&gmrrfériz?_oﬁ.ﬁtéﬁﬁ?zas
gl @ @ &
(A) 60
tCc) 30

(B) 120
(D) 35,

124 Triplet code for inhibiting process of translation

Mills locateq |

2x-24. then

R oo o Fartnriof X7 ke
128 g (- 2) s a factor of

the value of & 15 -

TR o+ ks = 2x— 24 &1 T TOrETE (X nE
; k grlam ® i
| (A5 G

()2 (D) -2

126 aghffrerar sz ¥ v @7
(A) & s (B) et &fy

127 At,the 681 National Film Awards on September
3bf 2022 who was conferred with the Dada Saheb
P\hél};e Award?

(A), Lata Mangeshkar

(B) | Asha Bhosle

(€) { Waheeda Rehman

(D) Asha Parekh

30 frerat, 2022 1 68 F T fhew gl # ara
qwey Eeh g § fea genl fean e

(A) wa1 HgTRT

(BY angm sige

(©) ad=r wHH

(D) ansn uriE
—

128 2.2 cubic dm of brass is to be drawn into a
cylindrical wire of 0.5 ¢m in diameter, then the
length of the wire is -

(A)) 224 m (B) 448 m
(€Y 356 m (D) 112 m
2287 3 W Traw @1 0.5 9 arE F IwTEn an
Hedien i 3, @ AR @ e -

(AY 224 @ (B) 448
((\21{56'% Z .-;P (D) 112 4
o

S

129 ﬁic?rdmg to the India State of Forest Report 2019,
tkn_bstale (Not Union Territory) having lowest
pﬁxﬁcntag& of forest cover is -

(

) Haryana (B) Uttar Pradesh
©'p

unjab (D) Rajasthan
ety e A% B R 2019 % #9817 T8 7oy

?ﬁ"ﬁ WRTE w25t 1) St a8 a9 o A e
1S ; - 2
3 . ae (B) UGG (A) ""lm‘"” (B) 3wt waar
(©) AUG : ‘ -3
1’37;:;": t' X ';\.;.f ™ l'- i"-
¥ ¥ o e [ Contd
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pmits 11> annual | 13§ g 3 del AT

1ission su ILE? T AT O o
130 State Human Rights Commis>r 5 Bheaa M AdH ¥ 7aAH #
report 1o 1 : S (B) wymamras
: .rnmen —
(A) State (“‘\LHH“L-J f State (L) MeTaargs (D) gE=radas
ate General ¢ é ) dTdd
(B) Advocale ; o s510n
(C) National Human Rights ¢ ommis>~
ioh Cour 136 The oertes 6 i et ‘
(D) High Court I IGCER Pt € centre of activities of Govind Giri in 19]]
~ 21717 2 & T L= R }4‘ o | . ‘
T ArAE T AT ST A T | and 1912 was
3 | . —————
i s (A) Bedasa (B) Kheda
(A) T GBI hl (C _ ‘
(B) T4 & qerferdad &l ) Idar (D) Sunth
(C) TG Td AT G Bl Ma= fife @1 wfafafag & &= 1911 uag 1912 17
(D) Ted T & __ gl
(A) gza (B) @z
131 Which of the following climate regions in (C) =71 (D) qa

Rajasthan receives lowest annual rainfall?

TerH § Frefataa seary wee @ 8 S gad g5y s _ _
e qut ar Hear 7 The purpose of run command in start menu is to—

(A) BWhw (B) Aw (A) Search File
(C) BShw (D) Cwg ‘ (B) Open System Lock

| (C) Launch Internet Browser
(D) Start Programs

132 1If 5inU,=-3—. then cos . is - ‘ (- R
e ®E WY H T FHE & B9 &

Uﬁsinu:i.ﬂﬂcosu?ﬁlm%— 1 (A) T
4 (B) faww @ie @

gl B - LE_ |' (C) F2TE T8 gl

4 4 (D) ¥ 9rg HE

I i
©) - (D) + | .

4 2 138 Punit goes West, he turns left, then left. again left
. and then right and finaly goes right. In which

133 Through which of the following districts of diyection he is:moving?

Rajasthan, the tropic of cancer passes? (A) East (B) West
A /
( 1) Banswara (B) Jl?a]a\.avar (C) North (D) South
(©) Jalo\rc (D) Sirohi
P 3 4 RS e gﬁﬁqﬁmaﬁaﬁimi.a‘smﬁaﬁtw%,ﬁﬂ
T ¥ 7 ATt ST U A G AW SR qer o ad e
(A) digarET (B) wemars . Wﬁa@ﬁﬁ?ﬂﬂal%lﬁ%ﬂﬁwﬁrmm%?
(C) e (D) fazrer A w (B) dfyam

C) sav D) zidm
134 A sum of money doubles itself with © v

. simple
rate in 12 years. In how. man Ple interest

itself? Y Years would jt treble 139 What is the name of the antimalarial medicine »
et (B) 36 years obtained from Cinchona? ’
;%)q;su,\q;ﬁari - ~.(D) 24 years (A) Nicoti‘ne (B) Quinine ’
& W, ?!g‘:ﬂﬁI ;ﬁﬁmﬂ :mﬂ b \ ﬁ'jﬂ l 5 AP (D) Cinchonine
(A) 30 ¢ B) 3“&%@@:&? R & Tt FARE B T 1 A A
(C) 18 =d (D) 24 ¥§ (2)) m ;gi F

( iR
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140 In which Legislative Assembly Sumitra Sing
choosen as the first W :
of Rajasthan?

(A)
(C)

h wa

I'welfth

(B) Thirteenth
Tenth

(D) Eleventh

gt foe, usmam aw @ veetl wfeem faem guy

HeAd B A faus gy ag
(A) arEd
(C) zwaf

(B) dvadi
(D) grEdy

141 The famous Pushkar Fair is held in w hich month
of the Hindu Calendar?
(A) Kartik (B) Chaitra
(C) Sawan (D) Falgun

TeRa™ &1 9fg Y96t qen Ty v % frw we

UGN
(A) ®ifda® (B) 2=
(C) "= (D) RIE |

142 Which allotrope of carbon is in the form of the
geodesic dome?
(A) Fullerene (B) Carbon Nanotube
(C) Graphite (D) Diamond

T@ar &7
(A) ot (B) @rd Frega
(C) wrEe (D) &

143 Choose an appropriate translation for the sentence
given :
She saved money for a rainy day.
(A) & ¥| @ Mm@ FarE
(B) wEd q¥ aa % frg 4§ a@m
(C) e aifver & fog 48 F9m
(D) s dre & ¥ FEl

144 What is the optimum temperature and catalyst

required for Haber's process?

(A) 150°C, Copper (B) 300°C, Silver

oman Speaker in the State

S| 145 Agni dance is performed by the men folk of which

sect of Rajaslhun‘.’

(A) Ramsnehi Sect  (B) Bishnot Sect

(C) Dadupanth (D) Jasnathi Siddha Sect
T % w9 & ad gEu ZT0 A7 F

I ® 7
(A) Terd gverm (B) fasai gwer
| (€) gy (D) s fag |ued

146 How many characters are supported by ASCII-7
coding system?
am@t-7 (ASCII-7) &if$n fawd o s siazd
B 7
(A) 512
(C) 356

(B) 256
(D) 128

147 g gqe ¥ |e fam s &1 wai gen @ 7
(A)uﬁr'cﬁsf (B) #2 - @K
(C) fow1 - @I9 (D)* Fast — Has

148 ‘Penganga’ is a tributary of which of the following
rivers?

(A) Godavari (B) Mahanadi

(C) Krishna (D) Kaveri

T Frafafaa Gt § 4 fead geme a9 7
(A) el (B) werE

(C) zom (D) srardy

149 A geostationary satellite revolves approximately
at what height and in which plane?

(A) 36,000 km, polar plane

(B) 36,000 m. polar plane

(C) 36,000 m, equatorial plane

(D) 36,000 km, equatorial plane

s et sume @ R San uv g feg aw §
YR HTdl & 7 ‘

(A) 36,000 faft, ydrg e

(B) 36,000 i, ydra g«

(C) 36,000 *, ety @

(D) 36,000 fo&eft, smegidig qw

150 Which of the following blood groups is uniy

o ersal
recipient?

ﬁwﬁlﬁaaﬁﬁaﬁﬂ—mmwméﬁrﬁﬁmﬁ%?
(A) AB- (B) AB*
(©) ot (D) O-

C) 450°C, Iron (D) 45°C, Tin ‘
;a”)t ofar & SugEd AT S a1aa fa e
BT &7

(A) 150°C, T (B) 300°C, faeat

(C) 450°C, A (D) 45°C, fest

wve] <

.~
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